Recall 1st Attempt



GOVERNMENT COLLEGE OF ENGINEERING, KARAD. Vidyanagar, Karad 415 124. Tal: Karad, Dist: Satara, Maharashtra, India.

Phone No.: (02164) 274066, 271711, 272414, 272415) Fax No.: (02164) 271713 Email: gcek brns@yahoo.co.in

No. CEK/QUOT/Fencing of Synthetic Net/2019-20/ 2318

Date: - _ 1 JUL 2019

To,

Sub: -: Providing Fencing of Synthetic Net to Basketball Court at GCE, Karad

Dear Sir,

With reference to the above, I request you to please quote your most comparative rates for the work as detailed overleaf/enclosed so as to reach the office on or before 05/07/2019. The prices of the work should be quoted F.O.R. at G.C.E., KARAD and exclusive of all taxes. The delivery period should be stated clearly and adhered to 'AF' or 'D' forms will be supplied where necessary. The R.R. through Bank or V.P. will not be accepted if order is placed. The specification of the material should be mentioned in full such as brand, make and company etc. I do not bind myself to accept/reject the offer, and its detailed leaflet must be attached. Your quotation should be valid at least for 30 days from the date of opening. The quotations should be sent in a sealed envelope. The envelope should please be superscripted with words 'QUOTATION DUE ON – Principal, Govt. College of Engg. Karad'

With this office reference no. & date of opening should also be mentioned on the sealed envelope. If the materials are not supplied according to the specification, it will be returned to you at your own cost. If ordered, you will have to submit three copies of the bill, which will be passed after receipt of material in good condition. Please note that if there is any overwriting in the quotation, the said item will not be taken in to consideration unless is initialed.

The quotations should be received on or before: -05/07/2019 on or before 4-00 pm.

The quotation received will be opened on: - 05/07/2019, at 5-00 pm.

'QUOTATION - Principal, Govt. College of Engg. Karad'

RECAPITULATION SHEET

Name of Work: - Providing Fencing of Synthetic Net to Basketball Court at GCE, Karad

Sr. No.	Description	A	Amount		
	Total Civil Work	Rs.	2,95,751.00		
	Add GST 12%	Rs.	35,490.12		
	Total with GST	Rs.	3,31,241.12		
	SAY TOTAL	Rs.	3,31,241.00		

ABSTRACT (As per SSR 2018-19)

Sr. No.	Item Reference	Item Description	Qty	Unit	Rate in Rupees	Amount
1	21.02 Pg. No. 187	Excavation for foundation in earth, soil of all types, sand, gravel and soft murum, including removing the excavated material up to a distance of 50 m. beyond the building area and stacking and spreading as directed, dewatering, preparing the bed for the foundation and necessary back filling, ramming, watering including shoring and strutting etc. complete. (Lift upto 1.5 m.) By Mechanical Means.	10.36	Cum	143.00	1481.48
2	24.08 Pg. No. 218	Providing and laying Cast in situ/Ready Mix cement concrete in M15 of trap/ granite/quartzite/gneiss metal for bed blocks, foundation blocks and such other items including bailing out water, Steel centering, formwork, laying/ pumping, compacting, roughening them if special finish is to be provided, finishing uneven and honeycombed surface and curing etc. complete. The Cement Mortar 1:3 plaster is considered for rendering uneven and honeycombed surface only. Newly laid concrete shall be covered by gunny bag, plastic, tarpaulin etc. (Wooden centering will not be allowed.), with fully automatic micro processor based PLC with SCADA enabled reversible Drum Type mixer/ concrete Batch mix plant (Pan mixer) etc. complete. With fine aggregate (Natural Sand / Crushed sand VSI Grade finely washed etc)	1.20	Cum	4757.00	5708.40

Sr.		Item Description	Qty	Unit	Rate in Rupees	Amount
3	24.10 Pg. No. 219	Providing and laying Cast in situ/Ready Mix cement concrete in M20 of trap/ granite/quartzite/gneiss metal for bed blocks, foundation blocks and such other items including bailing out water, Steel centering, formwork, laying/ pumping, compacting, roughening them if special finish is to be provided, finishing uneven and honeycombed surface and curing etc. complete. The Cement Mortar 1:3 plaster is considered for rendering uneven and honeycombed surface only. Newly laid concrete shall be covered by gunny bag, plastic, tarpaulin etc. (Wooden centering will not be allowed.), with fully automatic micro processor based PLC with SCADA enabled reversible Drum Type mixer/ concrete Batch mix plant (Pan mixer) etc. complete. With fine aggregate (Natural Sand / Crushed sand VSI Grade finely washed etc)	3.84	Cum	5028.00	19307.52
4	23.01 Pg. No. 214	Providing and fabricating structural steel work in rolled sections like joists, channels, angles, tees etc. as per detailed design and drawings or as directed including cutting, fabricating, hoisting, erecting, fixing in position making riveted/ bolted/ welded connections without connecting plates, braces etc. and including one coat of anticorrosive paint and over it two coats of oil painting of approved quality and shade etc. complete.	0.683	M.T.	71014.00	48502.56
4	23.12 Rg. No. 216	Providing structural steel work in hollow section of various thickness and sizes in square, rectanular and round shape from 25mm to 450mm section as per IS 4923 YST 310 Grade produced from iron ore and blast furnace route etc. as per detailed designs and drawing or as directed including cutting, fabricating, hoisting, erecting, fixing in position, making riveted/bolted/ welded connections and painting complete.	1.823	M.T.	88759.00	161807.66
	Market Rate	Providing and fixing synthetic net for fencing of opening approximate 50 mm x 50 mm and wire thickness not less than 2 mm including all leads lifts, labour, machinery etc. complete.	:	Sqm	88.80	52639.75

Sr. No.	Item Reference	Item Description	Qty	Unit	Rate in Rupees	Amount
7	Pg. No. 457	Providing and fixing 12 mm dia and 75 mm long nuts, bolts and washers etc. complete.	144.00	No	16.00	2304.00
8	- f	Providing and Fixing 8 mm hooks		Lump -sum		2000.00
9		Providing and Fixing cushions wrapped in rexin sheets.		Lump -sum		2000.00
		TOTAL AMOUNT				2,95,751.37
		SAY				2,95,751.00

Principal
Govt. College of Engineering, Karad.